Here are some equations and formulae:

de Broglie wavelength
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Faraday’s “Law” of Electrolysis
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J. J. Thomson’s e/m
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Rutherford Scattering formula
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Spectral series
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Particle in an infinite square well:   
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Hydrogenic atom:
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Coulomb's” Law”
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,     k = 9.0 x 109 Nm2/C2  .

Orbital angular momentum
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Angular momentum:
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Photon energy:
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Hydrogen ground state energy = -13.6 eV = -2.18 x 10-18 J

Constants:

1 eV = 1.60 x 10-19 J

electron charge

e = 1.60 x 10-19 C

alpha particle mass

mα = 6.64 x 10-27 kg = 3730 MeV/c2
electron mass

me = 9.11 x 10-31 kg = 0.511 MeV/c2

proton mass


mp = 1.67 x 10-27 kg = 938 MeV/c2

Planck’s constant

h = 6.63 x 10-34 Jsec = 4.41 x 10-15 eVsec
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 = 1.06 x 10-34 Jsec

Rydberg constant

1.0973732x107m-1
speed of light


c = 3.00 x 108 m/sec

Bohr radius


ao = 0.529 Å = 0.529 x 10-10 m
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Calculus

INTEGRALS (Continued)
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